Harvard Forest Data Archive HF398-01
Data File:

Name = hf398-01-sears—age—data.csv

Description = age data

Rows =16 Columns =10

MD5 checksum = €901d211b69837cd1e20686a738dc926

Variables:

X14C.age = radiocarbon date (dimensionless)

X14C.error = analytical error for radiocarbon date (dimensionless)

d13C = d13C value for radiocarbon sample (dimensionless)

Bchron.50 = median calibrated age for radiocarbon date; determined
with Bchron (dimensionless)

Bchron.2.5 = lower uncertainty range for calibrated age
(dimensionless)

Bchron.97.5 = upper uncertainty range for calibrated age
(dimensionless)



Variable Min Median Mean Max NAs

X14C.age 560.000 5815.000 5810.000 9290.000 2
X14C.error 25.000 37.500 39.286 60.000 2
d13C -30.400 -26.175 -26.461 -21.430 2
Bchron.50 -50.000 6581.000 5729.188 10475.000 0
Bchron.2.5 -50.000 6492.500 5653.500 10287.000 0
Bchron.97.5 -50.000 6665.000 5801.688 10648.000 0
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